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W ST.MARY'S CONVENT SR. SEC. SCHOOL, FARIDABAD
% ANNUAL EXAM (2024 - 2025)

Grade: IX

Time Allowed: 3 Hrs
Subject: Maths (Set - 1)

Maximum Marks: 80

General Instructions:

(1) This Question Paper has S Sections A-1-

(1) Section A has 20 MCQs carrying 0.5 mark cach
(111) Section B has 6 questions carrying 02 marks cach.
(1v) Section C has 7 questions carrving 03 marks each.
(v) Section D has 5 questions carryving 05 marks cach.
(v1) Section E has 3

case based integrated units of assessment (04 marks cach) with sub-parts of
the values of 1, 1 and 2 marks cach respectively.

SECTION A

Lo 1NTT2 - 2887 mats simplified form is equal to

(a) 2 (b) ' (c) 8 (d) 1/8

2. The value of (9)"" x (9)"* |5

(a) 3 (b) 81 (¢)9.9 (d)729

Which of the following 1s a polvnomial?

(@) V5 +x (b) 7/x ()7 V3 +x? (d) - 4Vx
4. The factors of x* + v’ + 2(xy + yz + zx) are
(@)(y +2z)(z+x+2y) (b) (X +y)(x+y~22)
(¢) (z+x)(x+y+2z) (d)(y+x)(y+z+2x)

S Winch of the tollowing 1s the equation of the line parallel 1oy

axis’!
(a)x =7 (b) x =y (C)x +y=23 dyy=11
0. 1 equals are added to equals, the whole are equal.”™ According to Euclid, this statement:

a) Postulate b) Definttion ¢) Theorem d) Axiom

7 The semi — penimeter of a trangle if (s ~a)=8cm. (s - b)=12cmand (s — ¢) = [4dcm s

a) 17¢m b) 34 ¢cm ¢) 20 cm d) 26 cm



1 .
S I the given figure. the value of angle v i C

a) 8O ' q
h) 30 ¢) 20 dy 1007

O IP(-1, I." Q(_B' ~4),R(1,-1),8(- 2, - 3)and T( 4.4) are plotted
then the points in the fourth quadrant are:

aPand T b)Y Q and R c)Onlv § dIPand R

onthe graph paper

10, In figure D are two e |
In figure AB and CD are two equal chords of a circle with centre O OP and 0O are

perpendiculars on chords AB and ( D respectively
8 AD ¢ cctively. | : T -
5. p ely t.f.z POQ = 140°. then (2 APO) « 4 « OP) s
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. IyE 3 ™
a) 120 b) 130° ) 140° d) 150°
I'l. Coordinates the point on the graph of the linear equation 2x+5y=19. whose ordinate 32 times

its abscissa 1s
P ‘ |
a)(3.2) (b) (2. 3) () (2, 5/2) (d)(52.2)

12, The measure of an angle which 1s 327 less than its supplement 1s
(a) 148" (h) 58° (c) 74 (d) 122°

13, In tnangles ABC and DEF, £A = £D, £B = £F and AB - EF, then are the two trangles

congruent” If ves, by which congruency cniterion”
(a) yes by AAS {b) ves by ASA (¢) no (d) ves by RHS

14 In rhombus PORS, PQ = ix cm, OR = 2{x + 3)cm Each side ot the rhombuys

(b 1Y ¢m (c) I8 cm (d) 28 cm

(a) 17 cm
15 P s the mad-point of side BC of a parallclogram ABCD such that < BAI - cDAP 1t AD
10 cm, then length of CD s

(b) $ cm

(¢) 6 cm {d) 8 cm

(a) 10 cm
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1 cquilateral triangle 15 24 m, then its area 1s

18, If the perimeter of ar
1 m? 1 m?
(a) 2083 m’ (b) 16¥3 m’ (c) 8¥3 m (d) 24V3 m
Answer the following Assertion & Reason by using below options:
10 Assertion (A): Median of the values 2.4,6,8 10and 12 is9
t u"\' ahservation + ( £ } Ii.:'hs-.':mlu.m |
4 2
Medin=— — - _1_- = s even
cm is 12 cm.

radius 6 cm and slant height 10

Reason (R):
ular cone forms a right angled

10, Assertion (A): The height of a cone having
Reason (R): The height,radius and slant height of & right circ

triangle.
ct explanation for Assertion

n are correct and Reason is the corre

a.) Both Assertion and Reasc
is not the correct explanation for

b.) Both Assertion and Reason are correcl and Reason

Assertion.
¢.) assertion is true but the reason is false.
d.) assertion is false and reason is true.
SECTION B

21. Find the point of the graph of the equation 2x + 3y = 6 cuts on X — axis and y-axis.

2. In the given figure, find the value of x.
)

OR
Prove that equal chords subtend equal angles at the centre
:1 [* = ~ g - " H
If y = -1 is a zero of the polynomial g (y) = 4y* + ky* - y -1, then find the value of k.
OR
Without actually i
ithout actually calculating the cubes, find the value of 75° -25° - 50°

24 A shopkeeper has ! m
cr has one sphence; j
preeper has one sphencal laddoo of radius Sem. With the s
s Sem. ame amount of

—
|||”‘.“||JI hl‘“ man ldl’nlll“”l\ 0 I:ldl S Z.0CM H h[: 1
g Y I
u
1 n mld
c)

i
25 Inthe figure, we |
: ave ZARC = £ACR
L3 =24 She
. Show that 21 = 22
. N
U



o

, side as 12 cm and each of the cqua|
an i CS 111 1 unequal side as
i » arca ol an isosceles triangle having
26. Find the arca ol ar
sides as 24 cm.
SECTION C
L5+ 1T

- V11, find the values of x and y.
27 “3—2»./7? Xty

28. AB is a line segment, and P is its mid-point. D and E are points on t_he same side of AR
quc;h that ZBAD = £ABE and 2EPA = «DPB (sec figure). Show that (i) ADAP = AEBp
(11) AD = BE

D

29. The polynomials x> + 252 _s

ax” X *+ 6 when divided by x + |
and x — 2, |eave same remainders

&ln the following figure, find the

Mmeasure of £ZPQB, £PAB and 2PBQ, where O s
the centre of the circle,
J ]
—
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31 A hemispherical bowl of internal radiyg g €M containg liquid. Thjg liquid is to be
filled intg cylindrical shaped smal| bottles of diameter 3 cm ang height 4 _ml tlow
Many bottles are required to empty the bow|? & e
‘ , OR
The sides of 4 triangle are in the ratio 3:5.7

_3_%; Plot l!]c lblinwing points and write the p
them in order: p 3,2y Q

ame of the figure obtaine
-7,-3), R (6, i

- d by joinin |
3). 8(2, 2). Also £ .

nd jtg areq.
33. The follow

_ Ing obse
Of the ¢

rvations haye been arran in as l
fol ; affanged in ascepg; de > medi
4a1s 63, find the valye of x. 29,32 48 50, x e iy

an
X+2,72 78 84, 95



- . : . cmown to  have
plan. based on the description  of Islamic paradisc gardens, 1s known

spired the Taj Mahal.

I.The formula to caleulate the curved surface arca of the hemispherical dome is

2. The surface area of the small dome (without base) is found 1o be 308 sq m, find its

radius.
3. Find the volume of cach small dome.
OR
Find the total surface area of the hemispherical small dome.

41. Sneha is carrying a handbag in the picture. It is quadrilateral in shape. Its flap 1s triangular
i shape. The sketch of her purse describes how the design was created by the designer.

ABCD is the body of the handbag. AO and BO are the angle biseetors €7 2 wnd 2B formmg

the two edges of the triangular flap of the handbag.

——

Refer the description of the purse to answer the following questions:

(i) Express £ AOB in terms of 2C and 2D.

(ii) If the angles of a quadrilaterals ABCD are in the ratio 3:5:9:13, find all the angles of

quadrilateral ABCD.
(i) If 2C= 2D =70°, then find ZAOB
OR
II"the body of the handbag is a paralielogram ABCD and the bisectors of 2Aand £B form
the flap of the bag, Find the ZAOB.




SECTIOND

34, (a) Ifa h+e=3,02" biee? - 5 and a +h' 9 find the value ol abc
Li:_} Factomse: 17-125a" - 135 ¢ 225a°

15 State and Prove Degree Measure Theorem

OR
two parallel chords of
24 em. I the d

ides of the centre)

ying on the apposie s
‘) is 17 em, determine

a cirele (]
stance betweet AR and €

AB and CD are
such that AB — 10 cm. D

the radius of the Circle

on for the following data

uistogram and 4 requensy polyy

30 Draw
Marks 1020 20-30 -4 10-50 §(1-1:0
No. of students ® 12 15 i b
OR

1 ol the tollowing data 15 20, find the value of'm

I the mear

I | 2y +m | 23 |
i — - —_ i
. ! sm 0
¥ ol o ) i
1 v 2 \'I:..:'.—m.‘ v LV 4 \5"'9

e+ 3y =3 (1 +¥= 0. Also find the point where the line

A

38. Draw the graph of the equation
meets X-axis.
SECTIONE

a racing evenl
¢ winner of the event. He

School has organised for students ol class X, The students
x metres. Raunak 1s th finished the race in 2

" m/minule.

39. AB Intemuliunal
run for a distance of
minutes. If his speed is

formation, answer the foll

represented by 'y
Based on this in owing questions:
ar equation in standard form.

(a) Write a in¢
(b) If the speed s 300 m/minute, then how much the distance covered.
(¢) Write the IWO solutions of the equation.
OR

20) and (30,60) are

linear equation. Check whether (40,

Express y in term of x from the above
the solutions of the equation or not.

Mughal Char bagh patic
divided into four parts

(khiyabans), which terminatc  al

ds the garden on

m. A high wall surroun
waler

by two bisecting

40. In the classical
three  sides. The garden is
paved walkways wo  gates. IS

channels with
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